
Prénom : ................................ Date : .........................................................................

CALCUL Je calcule avec des nombres décimaux
(02)

1./ Pose en colonnes et effectue ces quatre opérations :

28 640,54 + 17 069,7 = …………………… 907,65 - 349,8 = ……………………

960,47 x 54 = …………………… 4 569,75 : 3 = ……………………

2./ Pose en colonnes et effectue ces quatre opérations :

64 851,84 + 3507,7 = …………………… 5 863,1 - 3 267 = ……………………

9 706,2 x 8,5 = …………………… 3 634,26 : 6 = ……………………
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